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(-12=-1 x| = |
(22=-3v 2 =1
(-3)2=-3 x5 =1

(-4)% =
(-5)°= 25
(-6)* =
(-7)= 41
(-8)%= Gl
(-9)° = 3|
(-10)* = [606

2.1s (-5)2 and -2 the same thing?

22= x3 =4

2= 3E5=1

42 = |0

52= A5

62= Bb

72 = 4

82 = G4

92 = %\

102 = 100

53 —(TXE)
= ~(25)
=-25"

(%)
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&\,\@,&103& [0X 10 #[p= {000

=1y ¢ =]
23= ydtd=H
ED
3 =H45+H=93
0]
43 = (Y
53= |25
103 = 10
102 = [0 ¥ 1D = [6D

- N
N0 6

10% = , O)OOO
10° = loo)ooO
| 000000
) )
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(-1)3=-[ x| ¥ =~
I
(-2P3=-2xax Q=79
|
- 3:...[ '/ - =-Sl:}-
(-3) /3y3x3

(-4) = =G

(5)°= ~135
(_10)1 - -
(-10)% = (060
(-10)3 = ~too0

(-10)%= (0,000
(-10)°> =—100,000

(-10)° = \ 000,000
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5.

a)
b)
c)
d)
e)
f)

g)

h)

b)

c)

(-2)* =
(-2)* =
(-2)° =
(-2)* =
(-2)°
(-2)°
(-2)’
(-2)°

~d
g
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[%
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1 +-2+-3+-4+-5+-6+-7=-2b

(1)1 +2+3+4+5+6+7)=-2b

I IS R Il (il e U

-

_(1+2+3+4+5+6+7)=“'38
—_— ==
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7. Expand each into the sum of four numbers to show

that you know how to distribute (F.O.l.L.). Add these four
o :

numbers to get your final answer. Watch your signs!

(L+3)(2+4) =12+ 14432 +3
L{:_b/ :;1+L[+b+ll:@

(4’_:/2?;?1)_%7)‘&”439\*3\
I va =[at]
Py
(]fZ)TB_?Zl RN D S RS )
%E/ b vt o+l £0 =@
(673?4)-:'s+w+-awﬂ
(. N a ey et e B -[7]
/z%ﬁ“r\

—

(1+2)(3-4)=13 +] 'Y 12 +;1"‘{
K Y v 0B = [-3]

4= 12+ }/+~at3 r-aey

= 35+ + U +8 ...[]
("0\(')
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8.

"Teridcucal Alesahrs 1 aive

19= | 11=|
20 | 21=2
30 | 31="

= 10+ =0
1,234,567°= | 1,234,5671=113/5C]
0°= | 0'=©

(109(109 = 16 = 1°°°

1o - lOO looq

(102)(103) — (O IOOGOO
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